Minutes of the Approval Committee's Meeting in respect of VSEZ and Private SEZs in Andhra Pradesh held on 27.05.2022 through video conferencing under the Chairmanship of

Shri D.V. Swamy IAS, Development Commissioner, VSEZ

Present:

- 1. Shri B.N.Ramesh, Joint DGFT, Visakhapatnam
- 2. Shri Vasanta Kiran Babu IFS, Joint Development Commissioner, VSEZ
- 3. Shri VRS Sastry, AC (Customs), Visakhapatnam
- 4. Shri G. Raju, Asst. Development Commissioner (Labour), VSEZ
- 5. Smt.Kalyani, Drug Inspector, Drug Control Department, Visakhapatnam
- 6. The General Manager, District Industries Centre, Visakhapatnam

Absent:

- 1. Director, Ministry of Finance (Banking Division), New Delhi.
- 2. Director, Ministry of Commerce & Industry, New Delhi.

Development Commissioner, VSEZ and Chairman of the Unit Approval Committee for SEZs and EOUs in Andhra Pradesh and Telangana welcomed the Members and the JDC apprised them briefly about the proposals placed before the Committee for its consideration. The items listed in the Agenda were discussed and following decisions were taken in respect of each SEZ/EOU.

VSEZ

Agenda Item No. 1: Ratification of Minutes of the UAC meeting held on 17.05.2022

The Committee noted and ratified the minutes of the UAC meeting held on 17.05.2022

Agenda Item No.2: Request of M/s.Confidence Green Fuels Private Limited Inprinciple Approval as Null and void - Reg.

The Committee deliberated and approved for cancellation of the In-principle Approval granted to the Unit for setting up SEZ Unit in VSEZ for manufacture of "High Pressure Cylinders"

PVT SEZs - ANDHRA PRADESH

Agenda Item No.1:- Ratification of the Minutes of the meeting held on 17.05.2022.

The Committee noted and ratified the minutes of the UAC meeting held on 17.05.2022



<u>Agenda Item No.02</u>:- M/s. Hetero Labs Limited (Unit-IX) , a unit in M/s. Hetero Infrastructure Ltd. SEZ, N. Narasapuram (V), Nakkapally Mandal, Visakhapatnam for inclusion of additional products in the LoA - Reg.

The Committee deliberated and approved the request for inclusion of the following additional products in the LoA:-

SI.	Item of Manufacture	API/Bulk/Drug /Intermediate	ITCH Code	Annual Capacity
No.		/intermediate		(in Kgs)
1.	ETHYL-4-(2- PHTHALIMIDO)ETHO XY ACETOACETATE	Intermediate	29051620	10000

<u>Agenda Item No.03:</u>- Proposal of M/s. Yalamanchili Engineers Pvt. Ltd. a unit in M/s. Ace Urabn Hitech City Ltd. SEZ for reduction of office space from 10657 sqft to 3617 sqft - Reg.

The Committee deliberated and approved the request of the unit for reduction of space from 10657 Sq.ft. to 3617 Sq.ft. and for clearing into DTA 50 Computers and Server Rack(s) upon payment of applicable duties subject to following all the Customs procedures.

HSD Permissions: -

<u>Agenda Item No.04(a)</u>:-Request of M/s. NatcoPharma Limited, a unit in M/s RamkyPharma City (I) Ltd SEZ, Parawada, Visakhapatnam for permission to procure HSD at duty free rate –Reg.

The Committee deliberated and approved the request of the unit for procurement of HSD for a quantity of 75 KL of HSD per month for a period of six months i.e., from 01.06.2022 to 30.11.2022 subject to the condition that the quantity shall be procured as per the storage capacity of the unit subject to the observance of Power Guidelines issued by the Ministry of Commerce and Industry.

Agenda Item No.4 (b):- Request of M/s. Deccan Fine Chemicals (India) Private Limited a unit in M/s. Deccan Fine Chemicals (India) Private Limited SEZ at PayakaraopetaMandal, Visakhapatnam District for permission for procurement of 3000 KL of HSD for period of another One year i.e. 01.12.2021 to 31.05.2022 and production related Equipment - Reg

The Committee deliberated and approved the request of the unit for procurement of HSD for a quantity of 250 KL of HSD per month for a period of six months., from 01.06.2022 to 30.11.2022 subject to the condition that the quantity shall be procured



as per the storage capacity of the unit subject to the observance of Power Guidelines issued by the Ministry of Commerce and Industry.

<u>Agenda Item No.4(c)</u>:- Request of M/s. Aragen Life Sciences Pvt. Ltd., a unit in RamkyPharma SEZ, Parawada, Visakhapatnam for permission to procure HSD at duty free rate – Reg.

The Committee deliberated and approved the request of the unit for procurement of HSD for a quantity of 12 KL of HSD per month for a period of six months., from 01.06.2022 to 30.11.2022 subject to the condition that the quantity shall be procured as per the storage capacity of the unit subject to the observance of Power Guidelines issued by the Ministry of Commerce and Industry.

Permission for procurement of Material:

Agenda Item No.5 :-Request of M/s. Biocon Limited, Co Developer of M/s RamkyPharma City SEZ, Parawada, Visakhapatnam for permission to procure material without payment of duty on the basis of approval of Authorized operations – Reg.

The Committee deliberated and approved the request of the Co-Developer for permission to procure the following material for undertaking authorised operations.

SI No	Material Description	UOM	Qty	Unit Rate (INR)	Total Amount (INR)
1	CHAIN PULLEY 3 TON	NOS	1	11,207.70	11,207.70
2	MONORAIL 3TON - 10MTR	NOS	1	26,777.70	26,777.70
3	AMPEROMETRIC SENS P.No: 00004041	EA	1	13,876.50	13,876.50
4	CHLORINE SENSOR MAKE:E&H P.No:00001590	EA	1	1,06,500.00	1,06,500.00
5	CTG.FILTER SPUN PP MAKE:DOE PNo:00000604	EA	18	187.5	3,374.95
6	CTG.FILTER SPUN PP P.No: 00000608	EA	18	249.99	4,499.87
7	MAINT.KIT MAKE: E&H P.No:00004028	EA	2	20,408.63	40,817.25
8	MEMBRANE O3 SENSOR P.No: 00004040	EA	2	29,389.50	58,779.00
9	OZON.ELECTRODE MAKE: BWT P.No: 00002364	EA	7	15,300.00	1,07,100.00
10	CENTRIFUGAL BLOWER	NOS	2	1,57,878.00	3,15,756.00



11	Ducting accessories	NOS	1	57,295.70	57,295.70
12	LEVEL INDICATOR	NOS	2	6,429.78	12,859.56
13	MANOMETER	NOS	3	3,193.16	9,579.48
14	MS SUPPORT STRUCTURE	NOS	1	4,85,570.40	4,85,570.40
15	PANEL	NOS	1	1,02,434.50	1,02,434.50
16	PHA TRANSMITTERA	NOS	1	68,742.10	68,742.10
17	PP+FRP TANK	NOS	2	1,45,000.41	1,45,000.41
18	PRESSURE GAUGE,	NOS	4	2,950.29	11,801.16
19	PUMP	NOS	2	45,294.13	90,588.26
20	PUMPÂ DEF	NOS	2	45,294.13	90,588.26
21	PUSH BUTTON STATION	NOS	6	2,360.16	14,160.96
22	Rotameter	NOS	2	3,763.20	7,526.40
23	SCRUBBER	NOS	1	1,06,849.40	1,06,849.40
24	SCRUBBER LIQUID PIPE LINE WITH FITTINGS	NOS	2	64,374.24	64,374.24
25	SCRUBBER SYSTEM	NOS	1	1,16,649.40	1,16,649.40
26	TEMPERATURE GAUGE	NOS	2	2,071.72	4,143.44
27	Piping Works	LOT	1	10,86,336.00	10,86,336.00
28	SANITARY BUTTER FLY VALVE-M SIZE 25.4	NOS	28	3,200.00	89,600.00
29	SANITARY BUTTER FLY VALVE-M SIZE 38.1	NOS	9	3,500.00	31,500.00
30	SS316L NRV WITH PTFE SEATING SIZE 101.6	NOS	2	13,234.00	26,468.00
31	SS316L NRV WITH PTFE SEATING SIZE 25.4	NOS	1	2,800.00	2,800.00
32	SS316L NRV WITH PTFE SEATING SIZE 38.1	NOS	6	3,050.00	18,300.00
33	SS316L NRV WITH PTFE SEATING SIZE 50.8	NOS	5	3,959.00	19,795.00
34	SS316L NRV WITH PTFE SEATING SIZE 63.5	NOS	1	5,745.00	5,745.00
35	SS316L NRV WITH PTFE SEATING SIZE 76.2	NOS	2	8,800.00	17,600.00
36	CENTRIFUGAL PUMP	NOS	2	55,000.00	1,10,000.00
37	HAND HELD RADIO, MOTOROLA XIR P 8668 I	NOS	7	23,100.00	1,61,700.00



38	Air Time Subscription Charges	NOS	1	46,200.00	46,200.00
39	Excavation	Cum	6,000.00	168	10,08,000.00
40	PCC	Cum	1,000.00	5,142.00	51,42,000.00
41	Shuttering	Sqm	18,000.00	603	1,08,54,000.00
42	Nitrogen	LOT	1	25,00,000.00	25,00,000.00
43	UPS With Accessories	LOT	1	5,00,000.00	5,00,000.00
44	Magnetic Flow Meters	NOS	4	85,000.00	3,40,000.00

D.V.Swamy, I.A.S)

Development Commissioner, VSEZ & Chairman Unit Approval Committee